K0631

(]
E2LAE HAE 70| s B HEe Kipn
BIA =2
=5 4Y/HIE o[0ix|

1>

m
Joi
rlo
>
J
[o
o
1>
e

MO

=

HE &Y. o )

QlElA ZHXN = 5H &lof ot &=Z {xl2]
HAE S Wx|sHoF 5t= 2ol AFSE.

HX EEE £+52Z E 2 CIE FZE
X2 O|SE = US

QFH AlZH E84 Q1 & Z EIO| CHA| Bl=
RHg Ux|st7| /siM=E EtRI CE= DE
O|35Hok &.

THE!:

28T

= E A

Zr- 53 5.8.

AEIQIFA AE! HA:

2 E A E|K| et

LIAF £ 2|5 1.4305.

= El1.4305.

HAIS O3] WItAAOo| 45| A tE= X{AH RAL3020.
M OlR2|

AR T

2 E g3 oHdor L AE st
AE|QIH A AR HF:

= E g3 dor L E™IEK| =2
SEA|

E4 MA

HMIAM2]

AH O|M & K0665.

e BES Qs 1™ ME K2146.

=M AN

EIU A E2 &R 813, M2 HE QI8
ElelB: &2 &R 813, &3 LHE /U3
ElUC: &2 &R U2, B2 HE AH3
EI D: &2 &% U, B HE US

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/4



== = | - —_
SCAE A O8l0] = B2 B M| AE =2 AH|olgA 2l
=]
HiA ZEK|
=M
® ©
D2 D2
1 [l
ol SWi 4| SWi
il | ~1
= w Ay w
T Sw2 ¢
Da% D%
D1 D1
Z= 29
e El QA =i
F=ows B =A MY EH TEE M D D1 D2 L L1L2AEZ3 SW1SW2Fx30° AR EtM
7|2 =A S Bl =2
F1 2. NF2 2. N
K0631.5903 A AEl a3t AS[M RAL7021 3 M6x0,75 142556 5 3,5 8 - 08 4 10
K0631.5004 A AE Ast ZA3|ARAL7021 4 M8x1 182956 6 4 10 - 1 4 12
K0631.5105 A AEl PEET ZJ5ARAL7021 5 M10x1 213458 7 5 13 - 1,3 5 12
K0631.5206 A AE A3t EEI&.‘ RAL7021 6 M12x1,52541,710 8 6 14 - 1,8 6 14
K0631.5308 A AEl Ast ZA3|A RAL7021 8 M16x1,533 54 1210 8 19 - 23 14 28
K0631.5410 A AE] PEET 3|4 RAL 7021 10 M20x1,5 33 61 1512 10 22 - 28 15 32
K0631.590384 A AE Zs  A3ES wZ RAL3020 3 M6x0,75 142556 5 3,5 8 - 08 4 10
K0631.500484 A A& Zdst ASSWZRAL3020 4 M8x1 182956 6 4 10 - 1 4 12
K0631.510584 A AE Z#5 AMESESWZRAL3020 5 M10x1 213458 7 5 13 - 1,3 5 12
K0631.520684 A AE As  A3ES wZ RAL 3020 6 M12x1,5 2541,710 8 6 14 - 1,8 6 14
K0631.530884 A AEl 43t MES “%,* RAL 3020 8 M16x1,5 33 54 1210 8 19 - 23 14 28
K0631.541084 A AEl 75  AEE5 Wz RAL 3020 10 M20x1,5 33 61 1512 10 22 - 28 15 32
K0631.15903 A AECIHA AEl H|ZAS} Az|A RAL 7021 3 M6x0,75142556 5 3,5 8 - 08 4 10
K0631.15004 A AEHIQIFA AEl H|ZE5 &M RAL7021 4 M8x1 182956 6 4 10 - 1 4 12
K0631.15105 A AHQIFA ALl H|ZEE Z3|M RAL7021 5 M10x1 213458 7 5 13 - 1,3 5 12
K0631.15206 A AHIQIHA AEl H|ZEE AS|M RAL7021 6 M12x1,52541,710 8 6 14 - 1,8 6 14
K0631.15308 A AEHIQIFA AEl H|ZE5 ?QEI’L’.‘ RAL 7021 8 M16x1,533 54 1210 8 19 - 23 14 28
K0631.15410 A AEQIHA AEl H|ZES Z3|M RAL 7021 10 M20x1,5 33 61 1512 10 22 - 28 15 32
K0631.1590384 A AFHQIPA ARl H|ZFS A5S %Z RAL3020 3 M6x0,75142556 5 3,5 8 - 08 4 10
K0631.1500484 A AH|QID|A AR dH|Fst £S5 WZ RAL3020 4 M8x1 182956 6 4 10 - 1 4 12
K0631.1510584 A AH[QlDA AR H|ZFst £S5 WZRAL3020 5 M10x1 213458 7 5 13 - 1,3 5 12
K0631.1520684 A AE[QIEA AR H|Zst A58 ®WZ RAL3020 6 M12x1,52541,710 8 6 14 - 1,8 6 14
K0631.1530884 A AEQIEA AEl H|ZS AES %7 RAL3020 8 M16x1,533 54 1210 8 19 - 23 14 28
K0631.1541084 A AHQlE|A AR H|ZASt A5 S #®Z RAL 3020 10 M20x1,5 33 61 1512 10 22 - 28 15 32
K0631.6903 B AE Ast A3|M RAL 7021 3 M6x0,75 142556 5 3,5 8 10 08 4 10
K0631.6004 B AE PEL HE|M RAL7021 4 M8x1 182956 6 4 10 13 1 4 12
K0631.6105 B AEl a5t Z3|M RAL7021 5 M10x1 213458 7 5 13 17 13 5 12
K0631.6206 B A A3t AS|M RAL7021 6 M12x1,52541,710 8 6 14 19 1.8 6 14
K0631.6308 B AEl PEL 7£§|*—’.‘ RAL 7021 8 M16x1,533 54 1210 8 19 24 23 14 28
K0631.6410 B AEl Ast Z3|M RAL 7021 10 M20x1,5 33 61 1512 10 22 30 28 15 32
K0631.690384 B A Zs  AEES w7 RAL 3020 3 M6x0,75 142556 5 3,5 8 10 08 4 10
K0631.600484 B AEl Z#5 AMESSWZRAL3020 4 M8x1 182956 6 4 10 13 1 4 12
K0631.610584 B AEl Ads  AMEZSWZ RAL3020 5 M10x1 213458 7 5 13 17 13 5 12
K0631.620684 B A8 Zs  AEES wZ RAL 3020 6 M12x1,5 2541,710 8 6 14 19 1.8 6 14
K0631.630884 B AEl Z#3  AE5 wZ RAL 3020 8 M16x1,533 54 1210 8 19 24 23 14 28
K0631.641084 B AEl As A3 ES #Z RAL 3020 10 M20x1,5 33 61 1512 10 22 30 28 15 32
K0631.16903 B AECIFA AEl H|ZAS} ZH3|M RAL7021 3 M6x0,75 142556 5 3,5 8 10 08 4 10
K0631.16004 B AE|CIHA AEl H|ZASt A3|M RAL7021 4 M8x1 182956 6 4 10 13 1 4 12
K0631.16105 B AECIHA AEl H|ZAS AS|MRAL7021 5 M10x1 213458 7 5 13 17 13 5 12
K0631.16206 B AECIFA AEl H|ZS} ZA3|M RAL7021 6 M12x1,52541,710 8 6 14 19 1.8 6 14
K0631.16308 B AH|QIE|A ARl H|ZES HE|M RAL 7021 8 M16x1,533 54 1210 8 19 24 23 14 28
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



== = | - —_
SCAE A O8l0] = B2 B M| AE =2 AH|olgA 2l
=]
A SEA
EZ5 29
=2 Hs B =A MY EH THE M D D1 D2 L L1L2AEE3 SW1SW2Fx30° AR  EbM
718 8% S B B2
F1 2 NF2 2. N
K0631.16410 B AE[OIFA AEl H|ZASf ZA3[ARAL 7021 10 M20x1,5 33 61 1512 10 22 30 28 15 32
K0631.1690384 B AHQIP|A ARl H|Z@st ASS #Z RAL3020 3 M6x0,75142556 5 3,5 8 10 08 4 10
K0631.1600484 B AFE|QIPA AR H|Z3 ASS WZ RAL3020 4 M8x1 182956 6 4 10 13 1 4 12
K0631.1610584 B AEQIE|A AEl H|ZS} AESS ZRAL3020 5 M10x1 213458 7 5 13 17 13 5 12
K0631.1620684 B AECIEA AEl H|ZSt AlSS ®Z RAL3020 6 M12x1,52541,710 8 6 14 19 1.8 6 14
K0631.1630884 B AEIQIEIA AEl H|ZE AlES #Z RAL 3020 8 M16x1,533 54 1210 8 19 24 23 14 28
K0631.1641084 B AEIQIPA ARl H|ZFS AISS #Z RAL 3020 10 M20x1,5 33 61 1512 10 22 30 28 15 32
K0631.7903 C 2El Zas ZA3|M RAL7021 3 M6x0,75 142556 5 35 8 - 08 4 10
K0631.7004 C AEl Ast A3 RAL7021 4 M8x1 182956 6 4 10 - 1 4 12
K0631.7105 C AE Ast ZHA3|ARAL7021 5 M10x1 213458 7 5 13 - 1,3 5 12
K0631.7206 C AE a3t AS|M RAL 7021 6 M12x1,52541,710 8 6 14 - 1,8 6 14
K0631.7308 C AE A3t ZA3|M RAL 7021 8 M16x1,5 33 54 1210 8 19 - 23 14 28
K0631.7410 C AEl Ast Z435|A RAL 7021 10 M20x1,5 33 61 1512 10 22 - 28 15 32
K0631.790384 C AEl 75  AES Wz RAL3020 3 M6x0,75 142556 5 3,5 8 - 08 4 10
K0631.700484 C AE As  AMEZSWZ RAL3020 4 M8x1 182956 6 4 10 - 1 4 12
K0631.710584 C AE Zdst AESSWZRAL3020 5 M10x1 213458 7 5 13 - 1,3 5 12
K0631.720684 C AE 73  AlES wZERAL 3020 6 M12x1,5 2541,710 8 6 14 - 1,8 6 14
K0631.730884 C AE As  A3S w7 RAL 3020 8 M16x1,533 54 1210 8 19 - 23 14 28
K0631.741084 C AE Z#s AE5S Wz RAL 3020 10 M20x1,5 33 61 1512 10 22 - 28 15 32
K0631.17903 C AEHIQIBIA ARl H|ZES Z3|M RAL7021 3 M6x0,75142556 5 3,5 8 - 0,8 4 10
K0631.17004 C AHIQIHA AEl H|ZEF AS|M RAL7021 4 M8x1 182956 6 4 10 - 1 4 12
K0631.17105 C AEHIQIHA AEl H|ZE5 HE|M RAL7021 5 M10x1 213458 7 5 13 - 1,3 5 12
K0631.17206 C AEHIQIHA ALl H|ZE Z3|M RAL7021 6 M12x1,52541,710 8 6 14 - 1,8 6 14
K0631.17308 C AHIQIHA AEl H|ZAEF ?:'IEI*—*.‘ RAL 7021 8 M16x1,533 54 1210 8 19 - 23 14 28
K0631.17410 C AHQIBA A H|HS 45| RAL 7021 10 M20x1,5 33 61 1512 10 22 - 28 15 32
K0631.1790384 C AE|QIEIA ARl H|ZS A5 Wz RAL3020 3 M6x0,75 142556 5 3,5 8 - 0,8 4 10
K0631.1700484 C AEQIBA AEl H|ZAS} ASS ¥ZRAL3020 4 M8x1 182956 6 4 10 - 1 4 12
K0631.1710584 C AH[QlE|A AR dH|ZFSt £S5 WZ RAL3020 5 M10x1 213458 7 5 13 - 1,3 5 12
K0631.1720684 C AH[QlDA AR H|ZFst £A5S ®WZ RAL3020 6 M12x1,52541,710 8 6 14 - 1,8 6 14
K0631.1730884 C AEIQIBA ARl H|ZF3 ASS ®Z RAL3020 8 M16x1,533 54 1210 8 19 - 23 14 28
K0631.1741084 C AEIQIEIA ARl H|ZSH AlE S @z RAL 3020 10 M20x1,5 33 61 1512 10 22 - 2,8 15 32
K0631.8903 D AE a5t Z3|M RAL7021 3 M6x0,75142556 5 3,5 8 10 08 4 10
K0631.8004 D A A3t ZHA3|MRAL7021 4 M8x1 182956 6 4 10 13 1 4 12
K0631.8105 D AE PEET Z5ARAL7021 5 M10x1 213458 7 5 13 17 13 5 12
K0631.8206 D AE ast Z3|M RAL7021 6 M12x1,52541,710 8 6 14 19 18 6 14
K0631.8308 D A A3t ZH3|A RAL7021 8 M16x1,533 54 1210 8 19 24 23 14 28
K0631.8410 D AE PEE Z435|A RAL 7021 10 M20x1,5 33 61 1512 10 22 30 28 15 32
K0631.890384 D AEl Ads M35 wZ RAL 3020 3 M6x0,75 142556 5 3,5 8 10 08 4 10
K0631.800484 D A Zs  AMEZSWZRAL3020 4 M8x1 182956 6 4 10 13 1 4 12
K0631.810584 D AEl Z#s AMESSWZRAL3020 5 M10x1 213458 7 5 13 17 1.3 5 12
K0631.820684 D AEl As M35 wZ RAL 3020 6 M12x1,5 2541,710 8 6 14 19 18 6 14
K0631.830884 D AE Zs  AEES w7 RAL 3020 8 M16x1,533 54 1210 8 19 24 23 14 28
K0631.841084 D AEl 73 AlES wZ RAL 3020 10 M20x1,5 33 61 1512 10 22 30 28 15 32
K0631.18903 D AFHIQIHA ALl H|ZEE Z3|M RAL 7021 3 M6x0,75 142556 5 3,5 8 10 08 4 10
K0631.18004 D AEHIQIFA AEl H|ZEF ZA3|ARAL7021 4 M8x1 182956 6 4 10 13 1 4 12
K0631.18105 D AEHQIEA AEl H|ZS 3| M RAL 7021 5 M10x1 213458 7 5 13 17 1,3 5 12
K0631.18206 D AFHIQIHA ALl H|ZEF EEI&! RAL7021 6 M12x1,52541,710 8 6 14 19 18 6 14
K0631.18308 D AEQIEA AEl H|ZAS ZA5|A RAL7021 8 M16x1,533 54 1210 8 19 24 23 14 28
K0631.18410 D AECIHA AEl H|ZASt 3|4 RAL7021 10 M20x1,5 33 61 1512 10 22 30 28 15 32
K0631.1890384 D AEQIBA AEl H|ZE AlSS #Z RAL 3020 3 M6x0,75 142556 5 3,5 8 10 08 4 10
K0631.1800484 D AEQIBA AEl H|ZS AESS ZRAL3020 4 M8x1 182956 6 4 10 13 1 4 12
K0631.1810584 D AH[QID|A AR H|ZFst £S5 WZ RAL3020 5 M10x1 213458 7 5 13 17 1,3 5 12
K0631.1820684 D AFECIBA AEl H|ZASt AlSS #Z RAL3020 6 M12x1,52541,710 8 6 14 19 18 6 14
K0631.1830884 D AEIQIBA ARl H|ZEE £S5 @7 RAL3020 8 M16x1,533 54 1210 8 19 24 23 14 28
K0631.1841084 D AE|QIEIA ARl H|ZS AlES Wz RAL 3020 10 M20x1,5 33 61 1512 10 22 30 28 15 32
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

4/4



